


IC

IC

$
JCT )
Ic ( )

P1



1P
o>
o>
103000 288 111000 47000
34500 34000 34500
o — ] . -
P=
§ ghv 3 o EX (i s /‘"'I ===l
=n h i "ss -? . 2530 /_/‘ \\.\. ant
2y i | =3 = o -+ & R Y
R LI 47505 | — ] & o S A 1 AN e RS OH LB 42500
L=100mn=ix . S = E 2510 < S % | J R 'E:: ﬁ"::::g
8000 ) " 1 px 4 y
.. \ M - Y ! _ _
IRTH <V AN #2500 a4 7 K ® M —— ————
L=11.0m.n=4% g AN [ =t B e e = e —— ——— e — | <
3 S oy ' - b=
—_ rd =2 ————— Aol

12000 | wEN

wd
KWl w375 i
\:\__gf_%a?/,

103000

"
e
//V

B — HmaN

PC




LTORBHX

'.:‘:‘g R R anim
g8

A S

.
— 5 ;
- 4
S TTUTRARLT Tt ]
L=l n=dl & %




800

45150

P4

114500

B K 263200

66750

— |

34400

3001300

ol

/.

[t H I H H e




-19,200

-8,500

4,900

5,200

P

5



— 2550

. hREEEE 4267 | 2550

gre—

VD) — b EEE

;%i.%gfé%%%

= P\\\\\ -

. \\\\\\N

TR

m_-, - |//////./

3050

BN AR A AN RAAT
LA SRR S S

LIl
\_PCiflE ¢ 32

5050




4100 6000 5500 kN
21 45 31 mm
15 33 23

0.6 0.3 mm
85.7
225 89.0 N/m
20m
20mm L mm




......

TR

PRI
8 e SR







